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Let h(x) = e“X(x%+3x+1)10(x+1)?
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9. Find the slope of circle X +y? = 25 at the point (3,-4).

Ans:

10. Find the area of the region bounded by the graphs of x = y? and

y=x—2. Ans: U\
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1. (10 %) In a survey, it was determined that the demand equation for
product A is given by — mé_
f(p],@ZO 2D+ 15,
and the demand for pre'dﬁt_B—fégiven by
g(py, p,)=400+0.8p, —1.6p,
where P, and P, denote the unit price, respectively, and x and y
denote the number of-product-A and the number of product B
demand each week. %ﬁne whether these two products are

substitute, complement&y’,oer’léi?her.

2. (10 %) Determine constants a, b, and ¢ so that

1; ax” +bx3$j_ﬁ;g—:
E,I} (x—l)sm(zz:x:jJ =
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